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Cuaestion T

Choose the option which correctly
foree B shown in the fgare Tedow,

il the mornent aboat e point OF oF ghee
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l'tu' motnent 1= B sin o clockwise, 5
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Thes moment 5 8 dne anticlockwise. t ( Cilan g
The mornent 1= FF oot o clockowise. ——
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The moment iz F cos e anticlockwise. l- L e
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The motment 38 F oosec o cloclowtse,
The moment 15 8 eosec o anticlockaris=e

The moment is & soca elockwise

s R B

The moment 15 Fsee aoanticlockwize,

Daestions & to 10

A rigid [ndder of length 5 metres and mass 25 kg leans againg, a frictiondess vertical
wall, A man of mess Tokg stands on the top vung of the ladder. The Tadder iz
etatic and makes an angle af G0% with the borizontal ground on which ic stands.

B Sobet che oplion which i closest to the magnitiude of the :mmml o omnenl.
of the foroe exevied by the ground on Lhe Tadder

e

9 Select the option which is elosest Lo Lhe magnitude of the ||_1_|F;|1m] COL e

of the foree exerbed by thee wall on the ladder, 9
Clpfions for Duestions & and 7
A T1N B 212N 245N D 49N
E 76N F 850N z 981N H 487N

10 Select che option which iz closest o the minimum value of the coelficient of
statie friction between the ladder and the ground for ahich the Ladder can
remadn in Lhis ronfiguration with the man at the top of the ladider.

{dptions
0,25 B 023 033 | R &

O (.51 F 057 G 067 H .75
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